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Note :~ Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

. paper.
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Attempt all gquestions.
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SECTION - A
wWog - A

1. Distinguish between any one of the following:
fAfofaa ¥ @ fad o o IR @ Fifeg:

P.T.O.



6271 2
(1) Truth and Validity

e AR dua
(i) Connotation and Denotation (4)
o7 & AR

2. Reduce the following propositions into their logical
form and give their obverse:

frafaftrg adfarel ) 978 o R ¥ sTas gY IS
wiRadT A :

(i) E.veryone cannot be a Film director.
B FYE fren o a8 & g
(i) Only the intelligent will get the reward.  (4)

I g w & T fam

3. If the first proposition is true, what can be inferred
about the truth value of the remaining propositions.
R won wYT w1 A o W @ PeafaRen weaed @
I / A Rl A 7RIS

(i) All socialists are writers.

mﬂm@_ﬁwﬁ%%
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(if) Some socialists are writers.
FT WVER aEE By B
(iii) No socialists are writers. (4
wE N T aes T B
4. Write a short note on the figure and mood of a
syllogism. (3)

Py gl o el Tw @@ w o uftng R
foriaw

OR / @&man

Determine the validity/invalidity of the following

argument by= the rules of syllogistic reasoning.
freafofen gim &t dwmr/adve 9 W P =i
& foaw g e

All saints are politicians and some saints are writers.

Thus, some writers are politicians.

o o Torfes € 3R 9o 99 ow@w ¢ ) 3N ©9 daw
TwHifea &1
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SECTION-B
w@Ug -«

5. Use truth table method to decide the validity/invalidity

of the following argument.

frfofers gfsear i &) Feuar/adud T aren Aty ® wan
¥ PeuiRa =9 |

O (pvg)e~r
~(pvaq) /. -~r1

(i) (p>q)vr A
pv~r /. q°p (6)

6. Define p>(q-r) in terms of stroke function. (3

p:(q-r)ﬁ@am%mwmaﬁm|

7. Test the validity/invalidity of the following argument
form by using Reductio-ad absurdum method :

Praffes g smer o Juer/sRvar & = IR
s fftr g o S

po>(qa>r)

po>g /.. pOor (6)
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8.

10.

Using truth tree method test the validity/invalidity of
the following argument :

ga ffy o PR g & duar/sdua =
i
A+*B
(AvC)oD /.. A<D (5)
Reduce the following into its disjunctional normal form
or conjuctional normal form:
= ¥ uRefdg il

[(p2q)*~p]>~1q (5)
Construct a formal proof of validity of the following
argument : _ )
frefafer e & e WO @ O RRR

A>~B
~{(C+~A) /.. CD~B

OR / A

(~VoW)s (XDW)
(X V) [ W (5)

P.T.O.
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11. Translate the following propositions with their given
logical notations. (any two)

R T T ———————
* HET A AT i
(i) All actors are winners. (Ax, Wx)
o e e 2
(i) Only doctors are members. (Dx, Mx)
Bad TR @ wew ¥
(iif) No painters are singers. (Px, Sx)

e § Rer ToE T8 2

(iv) Some teachers are not writers. (Tx, Wx) (4)

O HATEH oEE A8 B

12, Construct a formal proof of validity for the following
argument.

Foafeita g @ stwRe W ) s SR

{x) (Qx>~Rx)
(3%) (Sx*Rx) /. (3x) (Sx+~Qx)
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(x) (Wx>~Yx)
(x) (Zx>Yx) /. (x) (ZxD~Wx) (6)

13. Prove the invalidity of the following :
frfefee < sfua fe Sifow:
(x) (Gx D Hx)
(x) (GxoIx) ./~ (x) Ix>Hx)
OR / wrora
(x) (Sx>~Tx)
(x) (TxoUx) /o (3x) (Ux=~8x) ()

SECTION-D
w©UE - T

14. Bxplain any two fallacies of relevance with
examples. (8)

ﬁréﬁiimﬁ#ﬁméﬁf%Tmmmwaﬁaimanaﬁﬁqz
OR / Jrerat
Explain and illustrgte the fallacy of composition and
division.
<ot v R @ dw @ FerwoT ww s 9
P.T.O.
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15.

Identify and explain the fallacies committed in the
following : (any two) (7)

e g ¥ @ fdl @1 @ a8 = wewfie aur
TS T HAT
(i) This person is greedy because he is
immoderately desirous of wealth.
g 39 A § Rk 3 A v o S =
T D
(ii) No one has been able to prove the existence of
ghosts. Therefore, the ghosts do not exist.
W E R aRaw W wle o = owmn 2
e W = sifoe w8 @ 2

(iii) A little knowledge is a dangerous thing. As a
first year student of logic, 1 have only a little
knowledge of it. So what I know about logic
must be dangerous.

HAT WA BT € | SioTs & 0aw 9 & et
T WA TR W I 2 e W W
WoAs & W § U 2 EEEE

(iv) Radha has really worked hard on this project,
and she will really be depressed if she doesn’t
get an A grade. For this reason, you just have
to give her an A grade.

T 3 ¥ Wawe @ T mga deaw o 2, ok =
w9 A wga gWl O Ul 39 v A3 A8 e 39 W
mm?%hml (200)



